[lopory ocunuT wnayLwmu,
a MaTeMaTuKy — MbICNALWMIA



Hangute owmnbky

« 48:0,6=8
=« 0,55:0,5=11
«4,2:14=3
=« 63:0,7=9



[lpoBepka

-4 8:0,6=8
« 0,55:0,5=11
«4,2:14=3
=6 3:0,7=9



[leneHue
Ha OeCATUYHYIO ApOobb



Pazgenute npuMepbl Ha ABe
rpynnbl:

0,72:0,8 5,76:0,1 4,2:1,4 0,888:0,04

23,12:0,001 45,11:0,01



[1lpoBepKa

0,72:0,8 5,76:0,1
4,2:1,4 45,11:0,01
0,888:0,04 23,12:0,001



CoBeplueHCTBOBaTb
YMEeHue AenunuTb Ha
AEeCATUYHYIO ApOo6b



BbiNnONMHUTE aeneHue:

14,976:0,72 24,576:4,8
16,51:1,27 46,08:0,384
22,256:20,8 9,561:0,01

11,3:0,1 4,321:0,001



OTBEeTHhI:

PAVRS D,
13 120
1,07 956,1

113 4321



« [1.37 npaBuna
« N21491,
« N21492(B,r)



